GE)

BFETMABARBEEERERESEFHUE (EE) DR
(HGI - [)
Tk 2 5EE T2 6 FRE ERf 2 7EE L2 8EE ER2 QFEE TR 3 0FE SHTEE SH2EE S EE SH4EE
23l B | RMFEEE | HH| MALE (G| RXMASE (B TEE (G| XMALE |HH| TEE |G| GRE (B RGE8E | HH| XfFLEE (G| xFE£5E
NG HEHRE 721| 55, 805,000 537| 40,109, 000| 286| 21,511,000| 353| 26,690, 000| 327| 25,036, 000| 263| 20,439,000 231| 17,659,000( 165 12, 642,000 143| 10,931,000| 143| 11,181, 000
EEM 30| 2,444,000( 39| 3,248,000| 34| 2,720,000( 68| 6,680,0001 79| 7,900, 000( 66| 6,580,000 154| 15,400,000( 159( 15,867,000| 164| 16,525, 000( 153| 15, 300, 000
HEMS 46 920,000, 61| 1,220,000 37 740,000| 58| 1,630,000( 61| 1,830,000 55| 1,628,000( 64| 1,898 0001 47| 1,410,000 39| 1,128,000 48| 1,440,000
&it 797| 59, 169, 000 637 44,577,000 357| 24,971,000( 479 35,000,000 467| 34,766,000 384| 28,647,000 449| 34,957,000| 371 29,919,000 346| 28,584, 000| 344| 27,921, 000
LT ELE 50, 000, 000 60, 000, 000 80, 000, 000 35, 000, 000 35, 000, 000 35, 000, 000 35, 000, 000 30, 000, 000 25, 760, 000 28, 000, 000
HIETELE 9, 200, 000 -11, 000, 000 -55, 000, 000 0 0 -6, 353, 000 0 0 2, 824,000 0
FEEE 59, 200, 000 49,000, 000 25,000, 000 35, 000, 000 35, 000, 000 28, 647,000 35, 000, 000 30, 000, 000 28, 584, 000 28, 000, 000
&8 31, 000 4,423,000 29, 000 0 234, 000 0 43, 000 81,000 0 79, 000
BHE — A ER EXERESBRASL | EXEREASRAS | EXEEESBAS | ENREELSBAS | EXARELBRAS | EXERELRAL | EXERESBRAL [ HMAVEIEERERLS | PARBLIAEGELES
Al 59, 169, 000 44,577,000 24,971, 000M 35, 000, 000 34,766, 000M 28, 647, 000 34,957, 000M 29,919, 000M 19, 000, 000 20, 000, 000F4
[ - KBk PN L - KBk - KB - KBk - KB - KBk - KB - KBSk
Tkwd = Y 20, 000F3 Tkw = Y 20, 000F3 Thwd = Y 20, 000F3 Tkwa = Y 20, 000F3 Thwds = Y 20, 00073 Tkwd = Y 20, 000F3 Tkwds#= Y 20, 00073 Tkwd = Y 20, 000F3 Tkws = Y 20, 000F3 Tkw = Y 20, 0007
(fBLA : 80, 000F (B A : 80, 000F (fBA : 80, 000F (fBLA - 80, 000F (fBLA - 80, 000F (f8LA - 80, 000F (fBA - 80, 000F (f8LA - 80, 000F (fEA : 80, 000F (f8LA : 80, 000F
BENSE WEE - 200, 000F) HEE - 200, 000M) WEE - 200, 000F) HR3 - 200,000) WL - 200, 000F) HR3 - 200,000) WEE - 200, 000M) R - 200,000) HEE - 200, 000F) 33 - 200,000F)
zER - EEi CEE BB BTt BB EBt CEEh EBit CEE Bt
(EFREE) Tkw h &7 120,000/ |1 kwh a5 YU20,00f |1k whafU20,000/ |1 kwh a2 000M |1kwhastU25 0008 |1 kwhaty25 00/ |1kwhasU25 0008 |1 kwhaty25.00/ |1kwhaiy25 0008 |1k w hat 25 000F
(fBLA : 80, 000F3 (fEA : 80, 000F (fBLA : 80, 000F3 (f8LA - 100, 000 (fBA : 100, 000M (f8LA - 100, 000 (fBA : 100, 000M (f8LA : 100, 000 (fBA : 100, 000M (f8LA : 100, 000F
WEE © 200, 000F) HEE - 200, 000M) WEE © 200, 000F) BEE - 250 000A) WEE - 250 000M) WEE - 250 000F) WEE - 250 000M) WEE - 250 000F) HEE - 250 000M) WEE - 250 000F)
“HEMS (20,000@) |-HEMS (20,000d) |-HEMS (20,000@) |-HEMS (30,000M) |-HEMS (30,000M) |-HEMS (30,0008) [-HEMS (30,0008) |[-HEMS (30,0008) |-HEMS (30,000@) |-HEMS (30,000M)
AT = VAN
MEESRENDRFLE (B4 [)
Tk 2 5EE T2 6EE FER2 7EE T2 8EE FER2 QFEE T3 0FE RMTEE SN2 FE S 3 FE sS4 FE
@51 B RAEEE | HH| RTEE |G| TREE (B MR (B RMAEEE |G| REEE |G| TR |48 MNEE (B REEEE | HH| X5
KE5H 91 256,000 | 68 | 4,955,000 | 28 | 2,129,000 | 61 | 4,563,000 | 47 | 3,624,000 | 38 | 2,830,000 | 35 | 2,697,000 | 35 | 2,797,000 | 26 | 2,030,000 | 39 | 3,134,000
EEM 0 0| 13| 1,104,000 0 0 7 560, 000 4 400, 000 9 900,000 | 26 | 2,600,000 | 40 | 4,000,000 | 36 | 3,600,000 [ 35 | 3,500,000
HEMS 0 0 7 140, 000 0 0] 1 220, 000 6 180,000 | 12 360,000 | 14 398,000 | 15 450,000 | 12 360, 000 8 240, 000
&it 91 256,000 | 88 | 6,199,000 | 28 | 2,129,000 | 79 | 5,343,000 | 57 | 4,204,000 | 59 | 4,090,000 | 75 | 5,695,000 | 90 | 7,247,000 | 74 | 5,990,000 | 82 | 6,874,000
BHiE3 4 HE 20,111,000 = 3 = 6,703, 667
(R2~R4) (€=315)] (F14)




